
 

l;=g ljlgof]lht lzif{s of]hgfsf] gfd 

 

ljlgof]lht /sd ?= 

 

1 k"jf{wf/ ljsf; sfkmn] vf]nf e"d]:yfg kmnfd] df]=jf= dd{t 800000.— 

2 k"jf{wf/ ljsf; ;+;/] *f*+f kmnfd] lzv/k'/ h'u] df]=jf= dd{t 700000.— 

3 k"jf{wf/ ljsf; j*f g+= 10 sf df]^/jf^f] dd{t 300000.— 

4 
k"jf{wf/ ljsf; d"n;*s af^ agufpFm,;Gh]n^f/ df]=jf= dd{t 700000.— 

5 
k"jf{wf/ ljsf; zLtnfb]jL :s"n, ;fFwvf]nf gjnk'/ df]=jf= 

dd{t 
400000.— 

6 k"jf{wf/ ljsf; dfemLufpF, ;Nn]gL*fF*f df]=jf= dd{t 400000.— 

7 k"jf{wf/ ljsf; l* ^f]n —u}/LufpFm df]=jf= dd{t 200000.— 

8 k"jf{wf/ ljsf; sflnsfb]jL d+GbL/ lgdf{)f -eGHofª_ 200000.— 

9 
;fdflhs ljsf; :jf:Yo rf}ls ;'wf/ sfo{s|d 235000.— 

10 
;fdflhs ljsf; j*f sfof{no vfg]kfgL -;lxt_ Joj:yfkg 300000.— 

11 
;fdflhs ljsf; j*f g+= 10 vfg]kfgL dd{t 500000.— 

12 
;fdflhs ljsf; ljB\ofno tyf z}lIfs u')f:t/ ;'wf/ sfo{s|d 500000.— 

13 cfly{s ljsf; kz' tyf s[lif ljsf; sfo{s|d 200000.— 
             hDdf /sd ?= 5435000.— 

 

d]nDrL gu/kfnLsf 

gu/ sfo{kflnsfsf] sfof{no 

d]nDrL, l;Gw'kfNrf]s 

of]hgf tyf sfo{s|dsf] ljj/0f 
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